Counting Declarer’s Points from the Auction - II
ANALYZING POINT COUNT AT SUIT CONTRACTS
The easiest way to identify the point count range of the Opener’s hand is to classify the hand into one of four point count groups:

Minimum Opening Hand:
Typically 11-14 or perhaps 15 points.


Intermediate Opening Hand:
15-17, perhaps up to 18 points.


Strong Opening Hand:
18-21 points


The Crusher:


More
On most hands, opener’s first rebid will limit his point count range (with clues to his distribution). Patience. 
South

North

Opener is minimum with at least SIX hearts. (Note that he skipped over every other 
  1H

  1S

suit in order to rebid his original one.)

  2H

 Pass

 
South

North

When opener bids two suits (without reversing), he can either be minimum or 
  1H

  1S

 intermediate. Wait for his third bid to hopefully find out which it is. If opener passes,
  2C

  2H

expect him to be minimum. If responder had passed 2C, you wouldn’t know. 
South

North

South is either intermediate or strong. He has made a reverse bid to show extra strength
  1D

  1S

and force his partner to take one more call. He has presumably 5 diamonds, 4 hearts, 
  2H

  3D

and fewer than 3 spades. 
3NT

 Pass
South

North

South’s hand is somewhere between strong and The Crusher. It’s quite possible he
  1S

 1NT

had the strength to open 2C, but the 2-suited nature of his hand made that action 
  3H

  3S

less attractive.  Opener has at least 5 spades and 5 hearts. Responder likely has 2 spades
  4H

 Pass

and 3 hearts. 
RESPONDER’S RANGES FOR SUIT BIDDING.

We slice up the range for Responder much the same way we did for the Opener:


Minimum Responding Hand:

 6-9 (or 10) high card points

Intermediate Responding Hand:
10 or 11 - 12 high card points


Game-going Responding Hand:
12 - 15/16 high card points


Slam Invitational Responding Hand:
15/16 – 18 high card points


The Crusher



19 + high card points

If Responder’s first bid is a new suit, it is impossible to judge his range. However, the moment that the opening bidder limits his hand (by rebidding a suit, raising partner, or bidding no trump), Responder must come clean. 

South

North

Responder is minimum with a SIX card spade suit (or 5 very good ones.) Without
  1D

  1S

six spades, or extra values, expect North to take a preference for one of his partner’s
  2C

  2S

suits. 
South

North

Responder is intermediate with at least six spades. Once upon a time, this bid was

  1D

  1S

considered forcing, and Responder was somewhere between intermediate and game- 
  2C

  3S

going.  If there is any doubt about how your opponents are playing this sequence,
  4S

Pass

be sure to ask at your turn. 

South

North

Responder is game-going with at least six hearts. With a lesser hand he would have
  1D

  1H

simply invited game. With a stronger one, he would have invented a forcing bid or
 1NT

  4H

perhaps jumped to Blackwood. 
South

North

Responder shows he is better-than-invitational with his 4th Suit Forcing 2C call. South 
  1D

  1H

promises a club stopper (but does not deny extra values) with his 2NT call. North limits
  1S

  2C*

his hand with his Quantitative jump to 4NT. He is showing about 18-19 points, and
 2NT

 4NT

South may pass if he judges his hand to be minimum (11 to a bad 13). If North had a 
 Pass



good 13 or more, he would have bid slam. If North had more than 19, he would not 




give his partner the choice of passing his 4NT call.
An invaluable guide to judging the best defense is to add your high card points to dummy’s once it comes down. Next add that total to declarer’s approximate count. Subtract this number from 40 and you should know your partner’s strength to within a point or two. 











North’s bidding was atrocious, as his side 

North (Dummy)


could easily be off 2 aces or the ♥AK. It’s 





♠ K Q 9 3



not your problem. You need to decide how 





♥ 4 2




to beat 6S. It may look tempting to switch  





♦ K Q J T



to a heart or the ♣Q. Maybe your partner


West


♣ K 5 2

East (You)
led a singleton. How do you know? 


♠ 7 2





♠ J 5 4

 


♥ Q T 9 8 7 6 5



♥ J 3

You can count 23 pts (9 +14) between your
♦ 8





♦ A 7 6 3
hand and dummy. Declarer is known to 
♣ 7 6 3


South


♣ Q J T 9 8 
to have at least 15. That leaves at most 2  






♠ A T 8 6



pts (a queen) for partner. Further, it’s at 





♥ A K J



best the Queen of Hearts, and declarer has





♦ 9 6 4 2



no heart losers.  Clearly, the best chance is





♣ A 4




hope partner led a stiff diamond. 
Good defenders always keep track of the number of high card points declarer has either played or been marked with. For example, if declarer has promised 11-14 during the bidding and has produced 12 during the play, it becomes obvious that he can not hold any missing Ace or King. Your partner is marked with it. 

   











Partner plays the ♦K which is won by  
North (Dummy)


declarer’s ♦A. This marks declarer with 6





♠ K J 9 8 7



pts already, (East would’ve played the ♦Q





♥ A K J



from the ♦KQ). At trick two South plays 





♦ 9 8




the ♠Q. Naturally, you duck – and East’s 


West (You)

♣ Q T 9

East 

♠5 (high from odd) confirms that South 


♠ A T 2




♠ 5 4 3

started with two. Thus you win the 2nd


♥ Q 9 8




♥ T 7 6

spade. You can now count 8 sure tricks 
♦ J T 7 6 5




♦ K

for declarer: 2 diamonds, 2 hearts, and 4
♣ K 5


South


♣ A J 6 4 3 2 
spades. Obviously, the only hope to defeat





♠ Q 6




this hand lies with the club suit. Partner is 





♥ 5 4 3 2



marked with the ♣A. If he holds the ♣J as





♦ A Q 4 3 2



well, (as well as at least 4 others), the 





♣ 8 7




defense still has a chance.
Therefore, you shift to the ♣K (partner screams encouragement with the ♣2), and continue with the ♣5.  It was your only chance, so you might as well try. Your analysis pays off when partner produces 6 club tricks to beat the contract.
Switching to the ♣K may seem like a blind stab, it’s realistically the only logical continuation! 
In the previous example, the opening leader was able to deduce from his partner’s play at the first trick how many points declarer held in that suit. Frequently, the partner of the opening leader can figure out declarer’s high card holding in the suit led, particularly when an honor is led. 

   








North super-accepts the heart transfer, (showing a  




North (Dummy)


concentration of values in the diamond suit), and 




♠  4 3




South ends up the declarer in 4H.




♥ A K J 2



 




♦ A Q J T



The moment West leads the ♠Q, East knows that 

West


♣ Q 9 8

East (You)
South holds the ♠AK (West would not underlead 

♠ Q J T 7




♠ 9 8 6 2
an ace against a suit contract). With the ♣A in

♥ 5





♥ Q 6 3
addition, South could be expected to make a slam
♦ 9 8 6





♦ K 7 5

try, so the ♣A is pretty well marked in the West. 
♣ A T 4 3 2

South


♣ K J 6 
East plays the ♠9 (discouraging) to let West in on




♠ A K 5



the secret. Do not give the count signal in this situ-




♥ T 9 8 7 4



ation. It’s far more important to tell partner you




♦ 4 3 2




have no honor in spades. At trick two, a diamond 
♣ 7 5
is led to the Queen and King. At this point, a defender who hasn’t bothered to work anything
out will return a spade. YOU, however, will return a club because you know your partner has the ace. (Notice that failing to return a club allows declarer to make the hand by drawing trumps and pitching a losing club on dummy’s 4th diamond. 










West can count 28 high card points   

North (Dummy)


between his hand and the dummy and





♠ K Q J



recognizes that South will typically have





♥ A J 3




11 or more high card points to leap to





♦ K 8 5 2



game after a known minimum 3 card raise.


West (You)

♣ 7 6 3


East 

Therefore, West knows it’s hopeless to 


♠ A 5





♠ 5 4 3

look for any Ace or King in partner’s hand.


♥ K Q T 9 4 2




♥ 8 7 6

  
♦ Q 6 4





♦ T 9 7

The best plan is to defend passively. There 
♣ K 5


South


♣ J T 9 2 
is no particular threat suit in dummy where





♠ T 9 8 7 6



declarer is going to pick up extra tricks, so





♥ 5  




there is no urgency to collect defensive





♦ A J 3




tricks immediately. East plays the ♥8 at





♣ A Q 8 4



trick one to give his partner the count in 










the heart suit. With the ♥J in the dummy, East is not concerned that West will misinterpret this signal as attitude. West can see the ♥J in dummy as well, so East’s attitude is known. While it’s true that East has no interest in hearts, his responsibility as the defender with no high cards will be to give the accurate count as much as possible.
Knowing that partner started with either a singleton heart (or three) gives West a lot of information. Holding 3 small hearts, South (who can hold no more than 12 points and a spade suit headed by the Ten), would be unlikely to insist on a spade game. There would be too much risk of the defense starting with ♥AK and a heart ruff. Thus, West correctly reasons that the player holding the singleton heart is declarer and NOT partner. Once he realizes that partner will not be taking any defensive tricks, West simply looks for ways to NOT break new suits for declarer. With that in mind, West wins the spade lead at trick two, and returns a spade – being very careful to NOT attempt to cash the ♥Q before doing so. Later, if either a diamond or a club is finessed into his hand, West will win and exit with the same suit. Note that if East carelessly plays the ♥6 (low from even?) at trick one, West (trying to keep from being end-played later) would attempt to cash the ♥Q at trick three before exiting with either a spade or a heart. This would have the effect of promoting the ♥J for a diamond pitch and giving up the contract. Defending this way, declarer would have to guess you have a doubleton ♣K and play ♣A and a low club to have any chance to make this hand. 
  N        E         S          W


 1D       P        1S	2H 


Dbl*     P        4S	 P








  North        South


   1NT           2D*  


    3D*	         4H


    Pass





  North        South


   1S            1NT  


All Pass








  S        W        N        E


1NT      P        2C       P


 2S        P        6S  All Pass











